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11. Consider the market of scallion (#) in Taiwan. The Central Weather Burcau predicts that a typhoon
will arrive three days later. Both sellers and buyers expect that the price of scallion will increase
several days later after the typhoon hits Taiwan. What will happen to the equilibrium price and
quantity of scallion today?

a. The equilibrium quantity and price will both increase.

b.  The equilibrium quantity will decrease but the equilibrium price will be uncertain.
c.  The equilibrium price will increase but the equilibrium quantity will decrease.

d.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

12. Which statement below regarding housing markets in Taiwan is wrong?

a. A trend away from multi-generational to single-generation households (g % % 5] 4 & 32 iz 14 4%
Hyo)s F e 2 48 3 will increase the demand for housing in Taiwan.

b. The expectations of an increasing interest rate will reduce housing prices.

¢. Aregulation discouraging banks from lending to investors buying more than one residential unit
will reduce housing prices.

d. Imposing a luxury tax (4% #2) on sellers can reduce housing prices.

13. Peter’s factory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following
table shows their payoffs in two scenarios. Which statement is true below?

a. If the government prohibits Peter from polluting the river, it will be socially optimal.

b. If the river is John’s property, he must stop Peter from polluting the river to maximize his payoff.

c. If John has the right to keep the river clean, Peter will choose to compensate John and keep
polluting the river.

d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation
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Pollution No pollution
Peter US$ 1000/day US§$ 800/day
John US§ 150/day USS$ 250/day




116. Whole Foods and Trader Joe’s are two famous supermarket chains (4 #2 77) in the US. Assume
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14. For the motorcycle factory whose marginal, average variable, and average total cost curve in the short
run (in a month) are shown in the diagram below, how much profit will this producer earn if the price
of a motorcycle is US$ 1,500?
a. USS$ 35,000
b. US$ 65,000
c. US$ 125,000
d. US$ 750,000

15. Refer to problem 14. If the price of a motorcycle i is US$ 1,250, in the short run, what is the possible
number of motorcycle produced by this factory for profit-maximization?

a. 500
b. 400
c. 300
d 0 .
US $/motorcycle MC
ATC
AVC
1500
1250
1200
1000
number / month
300 500

that they are considering setting up their new shops in Las Vegas. Both of them have three options:
uptown, east, and west, and below is the payoff matrix. If Whole Foods sets up their shop first,
what is the payoff of the sub-game perfect equilibrium (SPE: the equilibrium you get by backward -
induction in an extensive form game) in this game? - o )
a. (90,110)

b. (100,90)

c. (90,110) and (100,90)

d. (180,50) and (45,170)
Trader Joe’s

Uptown East West
' - Uptown (20,30) (45,140) (45,170)
Whole Foods East (180,50) (80,70) (100,90)
West (150,50) (90,110) (75,85)
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